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1. REIRHEAKE WK
(1)+T
FLFEHLY t=15cm of 990. 000
= %Hifﬁﬁﬂwi)% (60, F m 1, 400. 000
BRI T g@ﬁ%@% (¢ 75, 18 m 250. 000
KERL nf 990. 000
FHIA T/ N m3 200. 000
B B 1N m3 200. 000
FHIA DtiE m3 200. 000
B DtIE m3 200. 000
7% At BN m3 200. 000
(2) W IRPR KA Wy K 2
HURE A 20~13mm m3 200. 000
MR T CNEM (B8 ) 50mLh m3 200. 000
RERHEK T CNER () ) 50mLL T ton 8.900
B L=600, ¢ 60, % ES 2, 372. 000
T ¢ 60, i EN 9. 000
90° L% ¢ 60, A% ES 12. 000
45° L5 ¢ 60, i EN 5. 000
Yo ¢ 60, A% ES 3. 000
FEE ¢ 60, FA% ES 26. 000
1k ¢ 60, # 38. 000
A ¢ 75, F%E ES 419. 000
T 5% ¢ 75, Mg EN 17. 000
VAN ¢ 75, F%E ES 13. 000
1k ¢ 75, Mg # 4.000
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LAE - R - A0 Hikk HLAL i i

NG ¢ 75 1 13. 000
Tt 3007 18 13. 000
77T ¢ 75 1 13. 000

. BEIREEKIE ORI KL

(1) +T
EHEEY t=15cm nf 10. 000
I Il k T T{f,%%ﬂ;@’% (675, VU m 100. 000
KERL nf 10. 000
e wir m 9. 000
S nf 6. 000
T AT 7V NSy m3 1. 000
T AT 7 v Sk m 6. 000
Hi L 1l 13. 000

(2) B IR A % HEKLE - kI
I IR Pl i A 2 VU ¢75 m 84. 000
WO e VUE ¢ 75 m 84. 000
BP9/ NE S ¢ 75, VU m 84. 000
IR B A 2% VP 75 m 16. 000
W IR K A MEE VP ¢ 75 m 16. 000
BP9/ NE ¢ 75, VP& m 16. 000
T 90° /LR 1 2. 000
EF 45° LR & 2.000

. Bt

(1) #htz
Mk (IR L) ha 1. 470
B+ ha 1. 470
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